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AT 9T UF
Iod "I Hd URIETT, 2018
SENIOR SECONDARY EXAMINATION, 2018
[SRCINIES]
ACCOUNTANCY

W:3:15%]Ué

quTies : 80
GENERAL INSTRAUCTIONS TO THE EXAMINEES
1. TRIeTf AU U URE UF W AHIG Iifarid: ford |
Candidate must write frist his/ her Roll No on the question paper compulsory.
299 weeT arfard €|
All the questions are compulsory.
3. URd U P IR &l g IR GRADT H 8 ford |
Write the answer to each question in the given answer-book only.
4. O gt 9 aaRe wve €, 99 9 & SR Ud W & ford |

For question having more than one part, the answers to those parts are to be written to
geather in continuity.

5. U UF & Bl 9 3ol wuR ¥ Bl IR &1 e /R / iR 84 0
R~ w9 & Ted BT B AL qAH |

If there is any error/difference/contradiction in Hindi & English versions of the question
paper, the question of Hindi versions should be treated valid.

6. i) I8 UIT UF 2 WUl H faqad & — 37 3R 9|
i) v ‘3 §H B & forv Sifvard g

iii) WS ‘¥ B I UNT 8, YAP 9T | 19 U7 & | weneft o1 fhd uh 9rr b
T AT UL BT B BRAT © |

1) This question paper Contains two section - A and B.

i1) Section 'A'is Compulsory for al candidates.

i11) Section 'B' has two portions. Every portion has a set of seven questions. candidate can
attempt only a set of seven question of any one portion.



7. GUS T GRT 3h UAD T

A 01—08
09—14
15—21
22—-23

o AN -

q 24—25
26—27
28—29
30

o AN -

ST

24—25
26—27
28—29
30

o AN -

Section Q. Nos Marks per question

A 01—08
09—14
15—21
22—23

o AN -

B 24—-25
26—27
28—29
30

o AN -

OR

24—-25
26—27
28—29
30

8. U AT 22 (GUe—37) TAT 30 (WUs—d) H I<IRPb fAheq & |

o AN -

There are internal choices in Q. No. 22 (Section-A) and Q.No 30 (Section-B)



Tus (37)
SECTION - A

. forarefial 9RIeR & U 59 a1l 9a9 & 9%~ ¥ Y9y 9disy afe SHd
A ISR Hold BT 34Td &l |

In the obsence of partnership deed, write the provision regrading distribution

of salary among working partner. 1

o\

ATSIER 1 AAIgid & F99 IR by S a1l Jaqeic @l foa gl
T GTdT & ?

What is the nature of Revalution Account which 1is prepared at the time of
retirement. 1

INT—3TUTd g 9 T S1aTd H $I3 Udh IR dargd |
Give any one difference between sacrificing, ratio and Gaining ratio.

T, AT UE WY 323 B GUI | A8 IR Rd g EieR 2
BH ¥ 3[AHT YU Rl & | U AR A BT BRI BT U 3T BRI ?

A, B and C were partners in a firm sharing profit in the ratio of 3:2:3:B retires
from the firm. What will be the graining ratio between A and C. 1

B & AR FHOH BT bl < Refaar faRay |

Write any two circumstances of compulsory dissolution of partnership firm. 1

YRT 54 & AR A UHR & 37 &l 92 W Wi fvar <1 Aabar & 2

As per Section 54, which type of shares can be issued at discount ? 1

. gHAT 3fen ¥ uRafdd fhu ST Fae drel ForgaT b1 A forfau |

Write the name of Dedentures which can be converted into shares. 1
. AT e & A9 Hd BT © 2
When dissolution of the Joint Venture happens ? 1

AT T TP BH & ARIGR & Of 3211 H oY — fAqo oxd 81 9 € &l Y
R s fou g d gl s L R I A g R I a9 9
RTER—aRTER YT BRAT & | AN U I AT AT AT DIToTg |

A.B and C are partners in a firm, sharing profits in the ratio of 3:2:1:D is admitted for
Yath share in the firm. D acquires '2 of his share from A and remaining from B & C
equally. Calculate Scarificing Ratio and New profit sharing Ratio 2



10.

11.

12.

13.

14.

15.

A A8 d HEERI & Heg Dlg IR <R qarsy |

State any four differences between Joint venture and Partnership. 2

UyoT OR ¥oil 100 USI, fSa! &R % 16,000 = | U¥d o el el T 1000,
HOTRT T 2,000, TAT Y9ON F AT YT HR= GR T T 1000 &M fhrm T 500
e | 85 Ul (SHTeAN) UVUN | 99 QT U O 9@ A &1 HedihA
DI |

100 boxes costing I 16,000 sent on consignment consignor paid % 1,000 for railway
freight, ¥ 2,000 for wages & consignee paid October ¥ 1000 & go down sent X 5,00 at
the time of receiving the boxes. 85 boxes sold by consignor. calculate the value of
remaining unsold stock with consignor. 2

X ¥ 500 T, T 600 Ui T o7 Hod FRIH AWTa BT 25 URrerd [T 831 &,
UNOT & IfAId Wol | UNO Bl ot Hod W Af¥E eI WAt 99 WX 20
fererd AT e < © | U9l 7 400 T % 800 Ul T | ¥ | Wl
HHIR BT AR ST DY |

X sent 500 items at @ I 600 per item at invoice price, Which is 25% above the cost
price. consignee is allowed 20% above invoice price as additional commission,
consignee sold 400 items at ¥ 800 per item calculate overriding commission. 2

IR—IUIRS AR b JI—II W@ g g o adiad | Ut 7 d 3froia-
YF AR Yoo DI A IHR @i |

How the amount received on Legacies and life membership fees will be shown in
income and Expenditure Account and Balance Sheet of Non- trading organisation. 2

31 "I 2017 Bl GHI 89 didl d¥ & I—¥F Wi d 341 fod & g o
faErs S arel fafdear FerIdr a1y @) I3 Sid BT |

54
URMAS Y (Fifecar Fear &) 2,00,000
I¥ B SR 59 DY H Y g 70,000
Y P SR Helhol DY Y 3,00,000

Calculate the amount of medical relief fund, which will be shown in income and
Expenditure Account for the year ending 31st March, 2017 and the Balance Sheet on
that date.

3
Opening Balance of Medical Relief Fund 2,00,000
Donation recived towards this fund during the year 70,000
Experneses paid for Medical Camp during the year 3,00,000\ 2

&, 9 AR 9 3211 § AN Ficd gU AEIER © | S drd 99 gl fb 1. F Bl
I % 1,00,000 A & 2R & wU H QAT SQAT| 2. F F BH Bl TR &
fh a8 =LIIH T 1,50,000 T HH PR QIAT| 3. BH F @] 99 H T 540,000



16.

17.

I 3T B ST d §RT BH P HAT BR ol T3 09T T 1,20,000 A 2 |
AERERI § oM & dedR Tq arv—al RIS @rdr 94915y |

A,B, and C partner, sharing profit in the ratio of 3:2:1 It was agreed that 1-) C would
get minimum share in profits ¥ 1,00,000 2.) B made guarantee to the firm that he
would earn minimum I 1,50,000. 3.) Firm earned I 5,40,000 for the current
year, it included I 1,20,000 earnbed by B. Prepare profit & loss Appropriation
Account for distribution of profit among partners. 4

X,Y d Z AEER I 1 TG 2014 BT X & gRT JGHI T B TR 4l
FAMIGHT & 91 S Goil WId T s AY T 10,000 @R 1 | 39 07
AT | ARG far 7 | v O 99l 9 Ufiay @ 37T | ¥ 3,000 oA
e WY IR 10 Ul 9 TSl e § dT WY 1 Al 9Y H
dfed e & T | a8 A gY@ ufoad 31 R @1 g 8
X bl ZRUT YIdl g1V |

X, Y and Z ware pratners in a firm on 1st January 2014 X retires and his capital
account shown credit balance after all adjustment I 10,000 It is transgeard to his
Loan Account. First three years instalment of I 3,000 each year including
interest. @ 10% p.a. on the outstanding remaining amount and the balance is paid
including interest in the fourth year. assuming accounts will be closed on 31st
December every year. Prapare X's loan Account.

H,%9T HUE IEH AIEIER 8 Sl AM—8T B 4:32:11 & AU ffeﬂdcl g
31 AT 2017 B BH BT FAUA &1 AT | 39 {4y o1 &gt 41 5

SN fer 2 FHRrt fer 2
e 2,40,000 TPe 10,000
RIE I IR 54,000 TIER 1,20,000
ATI—8T Tl 18,000 T 5,78,000
M —  2,64,000 B — 10,000
I — 1,66,000 4,30,000 BH — 24,000
7,42,000 7,42,000

Saa fafy o1 W fearforar g mar S\l awfy 9 % 5100 & a9 gV
a9 | T 5,228,000 I 8Y | el I T 6,000 B, TTGRI H 9 T 5000 T Y |
HAYT IR gl 1T g fearferar |siar o1 81, WY AEaR §RT g8 Bl
3rgaTd A1 STd I |

Ram, Shyam, Kapil and Rahim are pratners, Sharing profit & losses in the ratio of
4:3:2:1 On 31st March 2017, Firm was dissolved . Balance sheet on that date are :-

Liabilities Amount I Assets Amount 3
Creditors 2,40,000 Cash 10,000
General reserve 54,000 Debtors 1,20,000
P&L Account 18,000 Building 5,78,000
Capital Capital

Ram — 2,64,000 Kapil — 10,000
Shyam — 1,66,000 | 4,30,000 Rahim — 24,000




18.

19.

20.

7,42,000 7,42,000

on the above date, Rahim became insolvent and only ¥ 5100 realised from his Assests.
Realsation from Building I 5,28,000. Realisation Expenses amiuntingto ¥ 6,000.
Debtors amounting I 5,000 became bad. Prepare Realisation account at the time of
dissolution and also calculate the ratio in which solvent partners bear the loss of
insolvent partners.

T HT & Reafcr faRor # e = Hal Bl b gwsﬁé’@a?{wﬂﬁ’cﬁﬁ
feramay |

Under which heads and sub- heading will you show the following items in the
Balance sheet of a company.
1. PFYCY ATFCIIR (Computer software)

. el 3SR (Loose tools)

. HHFARI f2d 3T ( Provision for Employee benefits)

. gHRT AT AT (Unpaid Dividend)

BECINICIERCE] ( Building under Constrauction)

. gTaoi<T SR ( Public Deposits)

. B §RT & T8 TR ( Guarantee Given by the company)

. WRRRAIT (Accptances)

e SR Griter SRR A fTee a”d g wgaa ared | |ffed 81 2
A 9 X 3 ARG B AN BT Al G A8d & A= sy (har | i[9 W)
MM I g 3= & T 13,000 e Y Y| Gl 7 T 2,00,000 BT
ATl |gad ed & oy @Rier g ¥ 15,000 Y9UT Hedl 0 g | A ATl
IS ERT o= S 21 SY ey W 2 ufiw wHRe <9 21 SS9 |Aw
AT % 6,00,000 # 99 AT T Al Bl oI AR BN I IR &A1 17|
TR} YA A8 Wl 9 3Tl Bl JEIDbl H gAld & A HIad Aed

tEISICEIERE

Anil and Sunil entered into a Joint Venture sharing profits equally, Anil purchased

o N o g b~ 0 DN

goods worth ¥ 3 lakh under joint venture agreement, on which he paid storage rent
and other expenses ¥ 13,000 in cash. Sunil purchased goods worth ¥ 2,00,000 and
paid consigment expenses X 15,000. goods to be sold by Anil They decided to pay
2% commission on sales. Aniel sold all the goods for ¥ 6,00,000 and final payment is
made to Sunil preparse Memorandum Joint Venture Account and Joint Venture With
Sunil Account in the books of Anil.

SRIYR & ad o WieTdrel & B3 bl 100 USI AHE U¥0T WR Aol {oiga!
ST Hed T 20,000 U¥H F T 1000 VSIHTST AR T 2000 AN & FHRI | K
H 10 UST CC WS | WY ufedr ywoll 94 Hw{rel ofl 9 S99 gl * 1000, fasa
&Y % 500, & fBRIAT I 500 bR | 2+ 80 UST T 250 Ul U &l & A
T <7 yell B g W 5 Ufoerd FHeE 9F | HHRE WY HIcax A
R YSh bl Wl &1 | G bl YDl § UYT FraT §14 |

Lavanya of Jaipur consigned to kush of Bhilwara 100 case for ¥ 20,000 on cost.

Consigner paid I 1000 railway frieght, I 2,000 wages. During the transit 10 cases



were broken and remaining cases received by Kush. He paid octroi ¥ 1,000 sales
expenses rupees 500, godown rent ¥ 500. Kush sold 80 cases a I 250 per case.
Commission @ 5% on sales is payable to consignee and remaining balance amount
sent to consignor after deducting Commission and expenses. prapare consignment
Account in the books of Lavanya. 4

21. AT AR Hed & f=ferRad fAaRor & 31 A 2017 &I FH 89 Tl
Y BT JT—FY AT JIR BT |

LS UGICIRCIR]
31 |1 2017 @1

Bl 3 RUGIR S

URMS AT 30,000 o= o= 22,000
(11918)

CE 1,00,000 qa+ 48,000

T 50,000 T AT 30,000
faframr w 15,000 faf T @ 12% 1,00,000

EN| (1 3raaR 2016)
B R @1 20,000 f~aw 3w 15,000

faspa (1

3TATIR 2016

@)

2,15,000 2,15,000

1. 3t 2016 @I faf=1 @Gl & 9 39 UBR & — Yol HI¥ T 2,00,000 F,
HeaR T 50000 a9 60,000, 12 gfrerd faf=amT 2 1,00,000.

2. A 99 & T B T 1500 AT 9§ H U BY 3 |

3. BHER WX 10 Uferd diffe & X W BN T B

4. 99 B I H Wl AU BT b T 12,000 B |

From the following particulars of Agarwal Mahila Mandal prepare Income and
Expenditure Account for the year ending 31 March, 2017
Recipts and payment Account
for the year ending 31 March 2017

Receipts 3 Payment 3
To opening Balance 30,000 by rent (11 months) 22,000
To Subscriptions 1,00,000 by salary 48,000
To Donations 50,000 by sports material 30,000
To Interest on 15,000 by Investment @10%( 10 1,00,000
Investment October months)
To sale of furniture (| 20,000 by closing Balance 15,000
Ist October 2016)

2,15,000 2,15,000

1- Balances of verious accounts are as follows on 1st april 2016: Capital fund ¥
2,00,000, furniture ¥ 50000 Building I 60,000 12% Investment X 1,00,000.

2- Subscription related to previous year X 15,000 is received during the year.

3- Depreciation on furniture is to be charged @ 10% per annum.



4- At the and of the year, Stock of sports material ¥ 12,000.

22- HH Ud AR 32 H ¥ dicd g ASIGR & | I8 D Dl 1/5 A9 &
forv wH ¥ ydwr fear i f6 dHel U6 TR §RT SRIER—aR1ER < 81T |
ISP BH BT foresT ifed & —

B g TR BT R—ISaT — 31 A/, 2017 Bl

SIDEC] T T | ARl NIE
Uofl : el 40,000 | HYEN 34,000
ARTIT 30,000 | BHEIER 20,000
SRl Afagfd 99 | 8,000 ThE 15,000
e T IR AT | 3,000 TER 15,000
oFER 5,000 CED 12,000

afasy A 10,000
96,000 96,000

[P B 1 AU 2017 DT Jd¥T W f=ifebd ot g —

1.
2.

o g M~ w

M3 % 50,000 Yofl @ &1fd & 2w & forg R |

B @I A U8 IR qul & SFd SMEe™ & O 4 & AR W
Togifsd w1 2| fUsel IR aut &1 &fiad o 20,000 & 9 RAfETT O
OR AT ST 12,000 % |

Bk BT Hod X 6000 I G & g Wi T 12,000 Teb T T |

Fl TTER W T |

FHARI gt Faa & faeg T 3000 #T SR e fasar wam 2
qae §H @R % 1000 © |

JHeIIDh ST, ASERl & Yol d Ud T B4 &I Yde & qHI DI

[ECSUERIE

AT

S,RI T U HH H ARIGR | I oMl Bl 2:22:11 & IGUId H died o | ARIER

ol H Urae & & Bl deer & 99 W) I9a du1-e Ui &1

FRITER AT fham SIRRT —

N o o bk~ D=

Ul oR 12 gfderd qiiie &l & | 1ol {31 SR |

JMERTT WR 24 Yferd aififes @ &R | <arol foldm STRATT |

Z 18,000 Hfcray oa+ faar SRAT |

TT Y & oM & YR W BH & o H g d1 [ do |

'R' B GG 1 S 2017 DI B TAT| IFDbT Yoil 31:3:17 BT T 60000 T |
IR ¥ B SR T 20,000 BT BH I 3ERVT HRAT ¢ |

31 A1E 2017 BT FATK 99 & folU ®H BT o™ T 96,000 T |




8.

®H gIRT X 36000 1 HYad Sita« drd1 urfordl off WY o foraes Wifias ol
AT @I | ATt A ST 2 |

R & duiiviep ufiferal &1 <7 IRT S1a - & forg I|aT Yol @rdm TarR

P |

Kamal and Narayan are partnes sharing parfit in the ratio of 3:2 They admit C into firm
for a 1/5 share in the profits will be contribyted by A and B equally. Balance sheet og
their firm is as follows.

Liabilities 3 Assest 3
Capital : Kamal 40,000 | Machinary | 34,000
: Narayan 30,000 | Furniture 20,000
Work than Compensation Reseive 8,000 Stock 15,000
Provisions Doulitful Debts 3,000 Debtor 15,000
Craditor 5,000 Bank 12,000
Provident Fund 10,000
96,000 96,000

Terms of Rakesh's admission were as follows on st april, 2017:

will bring ¥ 50,000 as his share of capital and goodwill.

good will of the firm has been valued at 3 times Average profits of the last your
years are X 20,000 , While the normal profit on capital empliyed are ¥ 12,000
furniture to be appreciated by X 6,000 and the stock is maintained to I 12,000.

All debtors are good.

Liabilities against work compensation reserue is determinee at X 2,000.

Prapaid expenses are < 1,000

Prepare Revaluation Accounts, partner's capital Accounts and the Balance

Sheet of the new firm at the time of admission.

or

S,R and T were partners in a firm. They distributed profits in the ratio of 2:2:1 As per
provisions of the partnership deed, at the time of death of a partner his legal
representative will be paid as follows.

1-

Interest on capital will be paid @ 12%per annum.

Interest on Drawings will be charged @ 24% per annum.

salary @ I 18000 per year will be paid.

Share in profits upto the date of death on the basis of previous year profits.

R died on 1st june, 2017 His capital was I 60000 on 31st March, 2017.

R draws ¥ 20000 during the year from the firm.

Profit for the year ending 31st march 2017 was ¥ 96,000.

A joint Life Policy for I 36,000 was taken by the firm, the premium of which is
changed from Profit and Loss Account.




Prepare R, s Capital Account for calculating the amount payable to his legal
representative.

23- X foTes = 50,000 IHAT [ wIY 10 dTel NHIH W AT fbv | wr=n
gIRT for=rgar e |/l & -

JMded W — T4 (T2 Nifigw afq)
3Mded IR — T1
UH AT — T3

AN I AT IR (F2H AT A IR AR YT

JATIE Ud e UR <F Yol I Tl 81 1| Ueb IfER! 59 uTd 1000
HATT 3T 2, UH AT BT YA T R T8l B AP | ST Ig YA AaH
IrIAT & A1 (AT | U = TN 9% UTd 2000 |HAT A o, 7 UAH Tl
@ FHI B AMTH AT BT YA B T |

AT GRT ST ATeFRI T 31 TR IR TSl BT [ER Alfeidl F &
qraer=l & TR T |

SIRIFT AT T FdeRI & 70 BT BT 5ol § gfafsedr HIfor |

X company issues 50,000 equity share of ¥ 10 each at a premium. The following amount is
called by the company: X 4 (including rupes 2 for premium) on application X 1 on allotment,
% 3 on First call and Balance on final Call ( four months first call) after

Amount due on application and allotment was duly received. one shareholder holding
1000 shares could not pay the first call money in time. Another share holder 2000 shares paid
the final call money along with first call money.

Interest on calls in advance and interest on calls in arrears is determined on the basis
of table ‘F’ by the company.

Prepare journal entries in the books of company for the above transactions. 6
TUs (9)
SECTION - B

WU 'Y B & UNT B UID 9T H 7 U B | uRenfedl & foil T v & |1 yeHy
BT B HRAT B |

Section B has two portions Every portion has a set of seven questions. Candidate can attempt
any set of seven question of any one portion.

24, Ity & IR TR AfAT ATIor IR THgad fageyor § 3faR a1y |



State difference between Horizontal analysis and vertical analysis on the basis of
period. 1

25. fb=g! a1 fohareriial argural & =1 forfay |
Write the name of any two activity ratios. 1

26. fa<i faaRon @7 I IR N foIfRay |

Write any four limitations of financial statements. 2

27. Fr=foiRad gaamell | URETed 31U Ud YRETe 9 S1uTd &l U]

DI |

IRATe W 3T T 2,25,00, GRATT I 3T 194l T 2,500 URDTAT 9 3T
I ARTd T 10,000, UIMIHT & ‘T 1700 fddwor ud fasy =g — T 900 BT
— T 2200

From the following informations, Calculate operating Ratio and operating Profit
Ratio :-

Revenue from operating ¥ 22500 Revenue from operations return from ,cost of
revenue from operations I 10000 Administrative expenses I 17000, selling and
Distribution Expenses ¥ 1700, selling and distribution expenses ¥ 900 Depreciation I
2200. 2

28.}hs AR H FfTdHa PN FHSII U AAfdehdl @1 MR HAfgdr & b aff
ferR |

Explain ethics with reference to cash transaction and also classifly the code of conduct
of ethics. 4



29. Ugq fotfics @1 ifdhd gaemmell o AAMeR - =gl a1 |

fqa=or dreH. |31 A9 2016 | 31 A 2017

[. S\ar v <1 N N

1. IPEIRAT & P

() afer gt

1. gHAT 39T ﬁ 40,000 80,000

(@i vd e 20,000 30,000

2. IR =1 T

(&) SEFpTeN T 60,000 80,000

3. @Te] qRT

() MRS AT (SER) 40,000 10,000

HA 1,60,000 2,00,000

I1. Fwfmt

1. IR Are] |l

(?5) ) gt (]iﬁ) 1,00,000 1,70,000

2. 9Tel ARl

(@) e TE THE I T 60,000 30,000
1,60,000 2,00,000

Prepare common-size Balance Sheet of Ltd. From the following Informations ;-
Particulars Note 31st march | 31st march
No 2016 2017

I. EQUITY AND LIABILITIES N N

1. Share holder' funds

(a) Share Capital

1. Equity share capital 40,000 80,000

(b) Reserves and surplus 20,000 30,000

2. Non-current liabilaities

(a) long term borrowings 60,000 80,000

3. current liabilities

(a) Trade payables (creditors) 40,000 10,000

Total 1,60,000 2,00,000

II. Assets

1. Non-current assets

(a) Fixed assets (Tangible) 1,00,000 1.70,000

2. (Current Assets

(#) (Cash and cash equivalents 60,000 30,000

Total 1,60,000 2,00,000




30. AT 1 gAY &1 ST ®

gREre™ | 34 60,000
YTT:
Y 30,000
Jefaar 9 aRad+ :
(IR™E IBfar—a1f~aH BT (6,000—4,000) 2,000
P2RCE] 8,000
Ahel ™ 40,000
20,000
fear —31 A/ 2017
[EERS] qre 4.
1. FHAT U4 QTR
1. IRERAT & DI : 1
e 40,000
(31) sfer it
ORNEERERSIPE 20,000
2. IR =1e] <1 (10: 0T uH ) 10,000
3. dTe] IR
o : 20,000
(31) FTUTRS IAY
() 3= dreg <1l 10,000
T 1,00,000
2. FHfeRT
1. AR e e 50,000
2. 9Te] Aol
(a1) <afaar 4,000
(@) IR YA 26,000
(@) Vb Ud Adhs Jod 20,000
AT —
1,00,000




e 9T ;1
o Td MR : 5000

RICRCERIGE 15,000
20,000

FUR A T GIARH & IMER IR 0T DI
1. dTe] IUTd 2. IR U 3. Wl IMAd 3T

4. TR YT AMEd AT 5. ARG <IdT 3Tad TguTa
7. AdHA A AU |

3ferar
T FEell 9 130T — HAGT ITUId 2. WA TUTd 3. Qe &l JUrd

4. TSI I U B UM HIFAQ
STeTell™ 0T — 50,000, STE®IC JATATST 75,000 dTe] &R — 3,75,000
iR 9re] IR — 27,00,000, =TS FHfIAT — 6,75,000

TS UG B & UATd Bl oIt 2,04,000
JMIHR Bl I — 40 Ufaerd
SrHPpTol FOT TR TS Bl ¥ — 10 Ufa9rd

Following informations are give to you :
Revenues from operations 60,000
less : purchases 30,000
Change in inventories :

(opening inventory - closing inventory (6,000-4,000) 2,000

Direct expenses 8,000 40,000
Gross profit 20,000

Balance Sheet as at 31 March, 2017

Particulars Note No | Amount I
I. EQUITY AND LIABILITIES

A. Share holder's funds 40,000

(a) Share Capital 20,000

(b) Reserves and surplus

B. Non-current liabilities (10% Debenture
was)

C. Current liabilities :

10,000




(a) Trade payables
(b) other current liabilities

Total
II. Assets :
(A) Non-current Assets
(B) current Assets
(a) Inventory
(b) Trade Receivables
(c) cash and cash Equivalents
Total
Note No. 1 Reserves and Surplus :
General Reserve : 5000
Profit & loss : 15,000
20,000

20,000
10,000
1,00,000

50,000

4,000
26,000
20,000
1,00,000

On the basis of the information given above. Calculate :

1. Current Ratio 2. Liquid ratio 3-. Inventory turnover Ratio 4. Trade Receiavbles Turnover

Ratio 5. Trade Payables Turnover Ratio 6. Gross Profit.

OR
From the following information's, Calculate :
1. Debt -Equity Ratio 2. Proprietory Ratio

3. Solvency Ratio 4. Interest coverage Ratio

Long term borrowing - 5,00,000
Long term Provision - 7,50,000
Long term Liabilities- 3,75,000
Non-current Assets- 27,00,000
Current Assets - 6,67,500

Profit after interest and Tax- 2,04,000
Rate of Income Tax - 40%
Interest on long term borrowings - 10%

vs ()

SECTION - B

24, HFYCAGA oIl JoTenl fhsd ded 7 ?

What is computerized Accounting system ?




25.

26.

27.

28.

29.

30.

SR, Alsel a1 81T © ?

What is ER model ? 1
7 BRI BT SaleXV qhx Q‘I“ls-llikﬂ

1- PPMT

2- SUM

Explain the following functions with suitable examples

1- PPMT

2- SUM 2
Weee Ud Ihgd H AR WK BN | (B1F )

Distinguish between spreadsheet and workbook (any two) 2
S Hoie R ¥ U JT J93d &7 SIedd Hoie Ried &

fogl 2(QN) ueRl & fom Aftd awsney |

What do you meant by Date Base Management system ? Explain any two types of
date base management system with diagram. 4

ST o YTl bl FH BU @i AT YoTlell AR AT AT
YUl & Heg A&l Bl qarsy |

Describe Accounting Information system and also relationship between Accounting
Information system and Human Information system. 4

TUH 9% & DI GXaT BT HeY H qHSSY |
Explain the Structure of a workbook in brief.

Or (37rd)

TeIe BT AGihd H TART BT UlshaT BT Gy H THSSU |

Explain the brief the proceduse for application of spreadsheet in Accountancy. 6



THAT TR U IR HE—12

SR—TT T
RS GESIECESEN 3D | b | TS
hHID IGCGIN K| RSECI |
1. | ®Is YTge= a1 7d: da- Fel feaT ST | 1 3
2. | ATHHEE ETar (Tardidd &) 1 | 47
3. | UTUYRIDG B U AT 97 H | Bls Uh 1 | 97
4. | RER—RER (1:1) 1 | 96
5. | UIGIYdD Bl U8 AT 157 H | Dlg al 1 | 157
6. | e gfdadl ;MR 1 | 184
7. IRITAI T (Convertable Debentures) 1 199
Q. | faory &Rt srerar fenfRa erafr wHOH 89 R 1 | 255
Q. |71 31U =— 18 : 13 : 5 : 12 1+1 | 2 | 33
AN U =— 2 0 1 : 1
10. | UTGIYID Bl UB EAT 255—256 H U blg R X4 | 2 |255-
256
foaT f9 AT BT AT = 15 X 160 =2400
UNe & IAJUId Wd 3000 X 15
11. 100 = 450 Voot 2 | 285
Yol & Ui W9 1000 X 15 1
100 = 150
foar 9@ A1 B AN — 3000
12. | arfervrdt wHe= T 16,000 2 1290
[Excess amount 400 X 200 = 80,000 X 20
100]
13. X3 2 |310
JMI—T Tl
ECl Ecl |
ferst
IR FHEIRTT
USil By
SfeT—
SINICE
CILED
gl Yoh
SfeT—
CRIBRER]
gt
Are— Ife et dad 99T ¥ SR <1 © a1 Iy 3 ¥ W
(31rfd Format § SR =l f&ar &1 @)




14. | T 30,000 MT—F Gd & Sfde YT # @Y ST | 338
15. 19
Profit and Loss Appropriation account.
To Partner’s Capital:- 4 By profit & 3
Loss Account
A[2,85,000-3,000] 2,82,000 By B’s 5,40,000
B[1,90,000+2,000] 1,88,000 Capital A/c 30,000
C[95,000+3,000+2,000] 1.00.000 (guaranteed 5,70,000
5,70,000 amount)
ATc:— T 540,000 & AT BT BISHR D] FHT Hal DI TH—TdH
3® o B
16. X’s Loan A/c 1029
Date Particulars 4 Date Particulars 3 -
2014 2014 By x’s 103
Dec.,31 | To Cash Jan;1 | Capital A/C | 10,000
Dec.,31 | Alc 3,000 Jan; By Interest 1,000
To balance 8,000 31 A/C 11,000
c/d 11,000
2015 | To Cash By balance | 8,000
Dec;31 | A/C 3,000 | 2015 |c/d
Dec;31 | To balance 5,800 | Jan;1 | By Interest 800
c/d 8,800 | Jan;31 Alc 8,800
2016 | To Cash 3,000 2016 | By balance 5,800
Dec;31 | A/C Jan;1 | c/d
Dec;31 | To balance 3,380 |Jan;31 | By Interest 580
c/d 6,380 Alc 6,380
By balance 3,380
2017 | To Cash 3,718 | 2017 |c/d
Dec;31 | A/C Jan;1 | By Interest 338
Jan;31 | A/c 3,718

Alc— UAd IY A AR Adg YA Bl Vo-14 3 yae fdan

Y |




Realisation A/c
To Sundry By Sundry Liabilities
Assets:- Creditors-2,40,000 | 2,40,000
Debtors — By Cash A/c
1,20,000 Building-5,28,000
Building — Debtors- 1,15,000 | 6,43,000
5,78,000 6,98,000
To Cash A/c 6,000 By Partner’s Capital
(Realisation A/c (Loss)
Expenses)
R —24,400
To Cash A/c 2,40,000 S —18,300
(Creditors) K -12,200 61,000
Rh-6.100
9,44,000 9,44,000 72X 6
3 fawre — ye ufafie &1 Y 3id
STl 3UTd I TOT— A B
ISl @rd & 9y 2,64,000 1,66,000
. 1
(+) sfaRa o 7 w=9g 28,800 21,600 /2
2.92.800 1,87,600 1
= 732 : 469 /2 L77
18.
! 236
Items Heading Sub-Heading
1. Computer Non-Current | Fixed-Assets- :
Software Assets Intangible %) 237
Assets
2. Loose Tools | Current Inventories 1
Assets /2 236
3. Provision for | Non-Current | Short term
Employee Liabilities provisions v 235
benefits
4. Unpaid Current Other Current )
dividend Liabilities | Liabilities /2 236
5. Building Non-Current | Fixed-Assets-
under . Assets Capital work v 235
construction in progress
6. Public Non-Current | Long term
deposits Liabilities Borrowings Ya 238
7. Guarantee Contigental
given by the | liabilities and
company commitment -
(in notes to 1
accounts) /2 235




8. Acceptances | Current Trade
Liabilities payables
19. Memorandum Joint venture A/c
3 3
To bank 3,00,000 By bank 6,00,000
(Purchase) (Sales)
265
To bank 13,000
To sunil 2,00,000
(Purchase)
To sunil 15,000
(Expenses)
To sunil 12,000
(commission)
To profit
Anil-30,000 60,000
Sunil-30,000
6,00,000 6,00,000
Joint Venture with sunil A/c
3 3
To bank 3,00,000 By bank 6,00,000
(purchase) (Sales)
To bank 13,000
To P&A/c 12,000
(commision)
To P&A/c 30,000
(Share in
profit)
To bank 2,45,000
(paid to
sunil)
6,00,000 6,00,000
3 faHTSTF 1. Memorandum Joint Venture A/c
# profit ®I Y2 3 3R AY yAb #l DI Vs 3P
2. Joint Venture with sunil A/c ¥ commission g sunil @7 YT 4
UJ® B V5 3d IR AV A&l &l Va 3f®
287-
20 In the books of Lavanya Consignment A/c 288
| 3 3
To goods senton 20,000 By kush A/c 20,000
(80 x 250)

To Cash A/c




1) Abnormal Loss[ 3THHIT & 7 I oM ]

2)

(Expenses) 3,000 By

(1,000+500+500)

26,000

(1,000+2,000) Abnormal
Loss

To kush 2,000 By unsold

(Expenses) stock

To kush 1,000 By P& C
(commision) A/c (Loss)

2300

2,411

1,289

26,000

z
10 UST I AITd — 10 X 200 — 2000

UNdh & IATUTlID — 300
]

3000
100 X 10 2300

991 9 ATt 1 HedThT —
3
10 U1 &I AN — 2,000

Uy & SATUTlcIeh — 300
g

3000

100 X 10

gyoft & gd — 111

3000

90 X 10 2411

®W1.Wﬁaﬁmﬁzﬁwmaﬁ1—1

3iH
2. BHIYE T BN AP BT Yo-Ys 3fh
3. Y IR UGl U bl Va—Va b

[E—




21. 317
Income & Expenditure A/c
Expenditure 3 Income 3
To Loss on 27,500 By
sale of subscriptions —
furniture 1,00,000
To Dep. On 2500 Loss-
furniture Received
current year
for last year
1500 98,500
To rent — 24,000 By interest on
22,000
Add - 0/s
rent- 2,000
Investment —
To salary 48,000 15,000
Add:- Accured 18,000
To 18,000 interest —
consumption 3,000
of sports
material By Deficit 3,500
8X 2
1,20,000 1,20,000
dIe— gAP Hal Bl Y5 3 3T Y
22. 86-
Revaluation A/c R7
3 3
To stock 3,000 By provision 3,000
for doubtful
debts
By furniture 6,000
To partner’s By prepaid 1,000
Capital A/c Expenses
(profit)
K —4,200
N - 2800 7,000
10,000 10,000 1%

Hal a1 Va

Jip TSI — T dTell Ae BT Y% 3 IR I ARY




Partner’s Capital A/c

K N 1 K N 1
] 3 ] By balance ] 3 ]
b/d 40,000 | 30,000 | 45,200
By Cash
By workmen 3,000 | 2,000 -
Compensation
reserve
By goodwill 2,400 | 2,400 -
To 49,600 | 37,200 | 45,200 | By 4,200 | 2,800 -
balance Revaluation
c/d 49,600 | 37,200 | 45,200

3 favTod — HHaRT afayfd d9a 9 Efd U”d B Ys-Y4 3@ oy

4 9l Bl YD DI Va 3D

Balance Sheet as on 1% April 2017

3 3
Workmen Machinery 34,000
compensation Fruniture 26,000
reserve 3,000
Creditors 5,000 Stock 12,000
Provident fund Debtor 15,000
Capital 10,000 Bank 62,000
K- 49,600 Prepaid exp. 1,000
N- 37,200
I- 45,200 1,32,000
1,50,000 1,50,000
3 fauTeT— Ud Hal Bl Va b
OR
R’s Capital A/c
To Drawings 20,000 By balance b/d 60,000
To Interest on By interest on 1,200
Drawings 8,000 capital 3,000
To Balance C/d 64,200 By salary 6,400
By P&l adjust 14,400
By Joint Life
Policy
85,000 85,000

URMIG Y g IATER0T Bl BISHY Y I AGl Bl 1—1 Ab

3fh foarer —

2%

6x1

135-
136




23. 1) Bank A/c Dr. 2,00,000 A
To Equity share application A/c 2,00,000
2) Equity share application A/c Dr. 2,00,000 Vs
To Equity share capital A/c 1,00,000
To securities premium A/c 1,00,000
3) Equity share allotment A/c Dr. 50,000 Y2 193-
To Equity share capital A/c 50,000 194
!
4) Bank A/c Dr 50,000
To Equity share allotment A/c 50,000
!
5) Equity share 1* call A/c Dr. 1,50,000
To Equity share capital A/c 1,50,000 |
6) Bank A/c Dr. 1,55,000
To Equity share 1* call A/c 1,47,000
To calls-in-advance 8,000
Vs
7) Equity share final call A/c Dr. 2,00,000
To Equity share capital A/c 2,00,000
8) Bank A/c Dr. 1,95,000 1
Calls in advance Dr. 8,000
To Equity share final call A/c 2,00,000
To Equity share first call A/c 3,000 y
2
9) Interest on calls in- advance A/c Dr 320
To bank A/c 320
10) Bank A/c Dr. 100 Vs
To interest on calls in asseas A/c 100
24. qmwa%wws&zﬁaﬁﬁw 352
25. 1. pe] JYTC SINNIN nx 2 382
ii. UR® YT SfTad 3TJurd
i, 3frad HUEr Irafy
iv. ATAIRG ST JATae gUTd
v. 3d Il 31afe
vi. Gl GHRT 3ad JruTd
STH H Plg al
26. | UTGIYRID Bl TS AT 352 & AR Dlg IR HHN 4 xV 352
27.
i t
(ii) Operating profit ratio = operating profi x100 1

Net revenue from operations

_5,200%100
20,000

=26%

395




operating profit
Net revenue from operations

x100

(ii) Operating profit ratio =

_ 5,200x100 6%
20,000
28. | UTGUYRIS B U AT 413 & AR Al H MR Aldl & 1+3 413
Hed |
20. Common size Balance Sheet
As on 31* march 2016 and 2017
Particulars Note Absolute amount | % of Balance sheet
no. total
31" mar | 31% mar 31" 31"
2016 2017 mar mar
2016 2017
I EQUITY AND
LIABILITIES
!
1. Shareholders’fund s 40,000 | 80,000 25.00 | 40.00
a) share capital 20,000 | 30,000 12.50 | 15.00
b) Reserves and v
supplies
2. non-current )
liabilities 60.000 | o000 | 3750 | 40.00 /2
(a) Long term ’ 360
borrowings 1/
3. Current liabilities 40,000 | 10,000 25.00 | 300 2
(a) Trade payables
Vs
Total 1,60,000 | 2,00,000 100.00 100.00
IT Assets 1
1. Non-current assets 2
(a) filed 1,00,000 | 1,70,000 62.50 85.00
assets(tangible) 1
2. current assets 60,000 | 30000 1 3750 | 1500 2
(a) Cash and Cash
equivalents Vs
Total 1,60,000 | 2,00,000 | 100.00 | 100.00
1 409-
30 (1) current Ratio = CA = 20,000+26,000+4,000 = 50,000 =1.67 : 1 410
: CL 20,000+10,000 30,000
(2) Liquidity Ratio = LA = 20,000+26,000 = 46,000 =1.53:1 1
CL 30,000 30,000
(3) Stock/Turnover Ratio= CoRo = 40,000 =8 Times
Inventory A.Stock 5,000 1
(4) Trade Receivable I

turnover Ratio =

Net credit revenue
from operations

Average trade receivables

= 60,000 = 2.3 Times




(5) Trade payable turnover Ratio = Net credit purchases = 30,000 = 1.5 Times
Average trade payable 20,000

1
(6) Gross profit Ratio = gross profit = 20,000  338%
Net revenue from operations 60,000
6
3rerdr (OR)
vz
L. Debt-Equity Ratio — Total Debat =  16,25,000 = 93:1
Sharcholder fund  17,50,000 v
(1) Total debat = Long term borrowing +Long term provisions+ current
liabilities.
5,00,000+7,50,000+3,75,000 = 16,25,000 )
(2) Shareholders fund = Non-current Assets +current Assets — total Debt.
=27,00,000+6,75,000 — 16,25,000 = 17,50,000 1
2
1L Proprietary ratio:- Proprietor’s fund = 17,50,000
Total Assets 33,75,000 = 052:1 387-
Total Assets = non current Assets +Current Assets = ; 388
27,00,000+6,75,000 = 33,75,000 /2
Proprietos’s fund = 17,50,000
1
II1. Solvency Ratio :- Total Debts = 16,25,000 = .48:1
Total Assets  33,75,000
IV. Interest Coverage Ratio :- A
Profit before charging Interest & tax
Fixed Interest charges
=3.90,000 = 7.8 Times 72
50,000
- Ve
(i)  Profit Before Tax = 2,04,000 = 3,40,000 2
.6
(1))  Profit Before Interest & Tax = Profir before tax + interest L,
+charge
[ T 3,40,000+% 50,000 =% 3,90,000] 6
(iii)  Interest on long term borrowings =X 5,00,000 x 10 =% 50,000
100
SECTION - B
24, | HFGSIGd Gl Ugld T ®Y ¥ U HASd YUlTell § 1o 1 | 438
A ¥ o] o forl 9 2 |
25. | UTGUYRID B US F 461 B AR 1 | 461
26. | UTGAYRID B US H 430 3R 424 & AR 1+1 |2 |439-
424
27. | TPgP T T Brsd Bl @ R Sregie B w@d © | |isie 141 |2 | 420




JHgd P &l U AT & | (SIS Dl TS ¥ 420 B AJAR)
JHgdh BT &3 [Igd 2 AR BISYUIC & &9 AR o |

28. | SIAITHTH & RI ST Bl AR B Io ATALIHAT AR 242 458
ARl H gRafdd &< &1 SR fHAr SIer 2| ST & UBR
(UTEIYRTS ! UG | 458 B IATAR)
29. | UIGIYKID B TS § 447 & ITIAR 447-
447
30. | UGS DI US F 421,422 T 423 B AR 11 x% 421,
Y 422,
A 423
Bl aifers
1;/? 425 -
429

UGIYEID DI US F 425 ¥ 429 & AR




